

1910 9 1

1

()

1925

1928

()

(E. A. Poe)

1931

\ "

\ "

1933

1934

(Osgood, 1864-1943)

(\ " \

")

\ "

\A note on the indices and numbers of nondegenerate critical points of biharmonic functions", 1935

1936

(University College London)

J. Neyman (1894-1981)

Fisher-Behrens

[15]

[16]

[21]

F

[19]

()

1938 (Ph.D) 1940 (D.Sci)
 1940 \ " \ " \ "
 (Kai-Lai Chung)
 \
 Lebesgue-Stieltjes [6]"
 ([22]) 1942 \ " (1941) \ (
 " \ "
 \ "
 1945 J. Neyman H. Hotelling (1895-1973
) (University of California,
 Berkeley) (Columbia University) (University of
 North Carolina, Chapel Hill)
 [3] Neyman \ Neyman
 (A. Wald)
 "([14] 283)
 E. L. Lehmann (1917-2009)
 Lehmann \
 "[8] 1947 H. Hotelling
 (
)
 W. L. Deemer I.
 Olkin \ "Biometrika" [7]
 " "
 H. Robbins \
 1947 [23] Robbins (1915-2002)
 \ "[3] Robbins
 1948 Robbins
 (T. L. Lai)
 1947 J. Neyman (Neyman
 [14])
 \ "
 1948

1948 (A. N. Kolmogorov, 1903-1987) (1933)

1949 \ " [1]

1950 \ " \Am happy after liberation"

E. C. Titchmarch Introduction to the Theory of Fourier Integrals

(Khintchine, 1894-1959,)

\ "()

(Gnedenko)

(Stepanov) ()

(1924-1987) 1951 \ "(1953 3

3)

1952 1953 \ "()

\ "

1947 ()

1955 ()

1956 \ "

([10]):

1

1956

10) (34
 \ " \ (")
 \ " \ " \ 50 " \ " \ "
 () ()
 2 \ "
 Fisz 1957 1958 Urbanik
 Dynkin \ " \ "
 Prokhorov 1960 1956
 3 ()
 ()
 (\ ")
 1956 \
 " \ " "
 W. Feller \ " "
 1960 \ " 1982 [33]
 4

)

(

) [31] \

1959

\ " "(

\) [32]

"(

1962) , ([13]

[9] \ " \ "

[25]

() ([28] 1 1 [28][29] [29] 3 2)

"(() \ "\ "\ " \)

\ "

1970 12 18

[12]

1979 70

(The Annals of Statistics)

[3] E.

L. Lehmann [4]

T. W. Anderson [5] K. L.

Chung () [6]

1981 [34]

1983 Springer-Verlag

(Leading Personalities in Statistical Sciences from the Seventeenth Century to the Present) (N. J. Johnson

S. Koty)

114

(1) Fisher (1925) X_1, X_2, \dots, X_n Y_1, Y_2, \dots, Y_m [15] 1938 Behrens-Fisher $N(\mu_1, \sigma_1^2)$ $N(\mu_2, \sigma_2^2)$ $H_0: \mu_1 = \mu_2$

$$U = (\bar{X} - \bar{Y})^2 = (A_1 S_1^2 + A_2 S_2^2);$$

$$\bar{X} = \frac{1}{n} \sum_{i=1}^n X_i; \quad \bar{Y} = \frac{1}{m} \sum_{i=1}^m Y_i;$$

$$S_1^2 = \sum_{i=1}^n (X_i - \bar{X})^2; \quad S_2^2 = \sum_{i=1}^m (Y_i - \bar{Y})^2;$$

$A_1 = \frac{m}{n+m-2}$ $A_2 = \frac{n}{n+m-2}$ $U = \frac{(\bar{X} - \bar{Y})^2}{\frac{1}{n+m-2} (\frac{m}{n} S_1^2 + \frac{n}{m} S_2^2)}$ Behrens-Fisher

$\{U > C\}$ $\mu = \frac{\sigma_1^2}{n} = \frac{\sigma_2^2}{m}$
 H. Scheffé (1970) $\mu = (\frac{1}{n} \sigma_1^2 + \frac{1}{m} \sigma_2^2)$

$(n = m)$ $\mu = 0$ u_1 u_2 H_0

(2) [16]

$$y = A^{-1} + \dots$$

$$y = (y_1, \dots, y_n)^T (T \dots) = (\bar{y}_1, \dots, \bar{y}_p)^T A$$

$$E \mu_i = 0; \quad E \sigma_i^2 = \sigma_i^2; \quad E \mu_i^4 = \sigma_i^4 \quad (i = 1, \dots, n);$$

$Q = Q(y_1, y_2, \dots, y_n)$ y_1, y_2, \dots, y_n
 (i) $EQ = \sigma_i^2$; (ii) Q (iii)
 (i) (ii) Q_1 Q Q_1 Q σ_i^2

$$Q = y^T \alpha y \quad \alpha \quad n \quad Q \quad \mathbb{R}^2$$

$$\alpha = MD_\tau M;$$

$$M = I - A(A^T A)^{-1} A^T \quad I \quad D_\tau = \begin{pmatrix} \zeta_1 & 0 & \cdot & 0 \\ 0 & \zeta_2 & \cdot & 0 \\ \cdot & \cdot & \cdot & \cdot \\ 0 & 0 & \cdot & \zeta_n \end{pmatrix}; \quad \zeta_1, \zeta_2, \dots, \zeta_n$$

$$F = \sum_{i,j} {}^1_{ij} \zeta_i \zeta_j$$

$$\sum_{i=1}^n m_{ii} \zeta_i = 1$$

$${}^1_{ij} = \sum_{k=1}^n (\theta_k - 3) m_{ki}^2 m_{kj}^2 + 2m_{ij}^2$$

$$(i = 1, \dots, n; j = 1, \dots, n); m_{ij} \quad M = (m_{ij})_{n \times n} \quad \theta_i = \mathbb{R}^{-4} E_i^{-4} \quad (i = 1, \dots, n)$$

\mathbb{R}^2

$$S_0^2 = \frac{1}{n-p} \|y - A^{\Delta}\|^2$$

$$(\Delta \quad - \quad \|z\| \quad z \quad)$$

$$(n-p) \sum_{i=1}^n (\theta_i - 3) m_{ii} m_{ik}^2 = m_{kk} \sum_{i=1}^n (\theta_i - 3) m_{ii}^2:$$

(3)

[17] Hotelling T^2

$$T^2 \quad A^2$$

\hat{A}^2

T^2

$$W = \prod (1 - \mu_i) \quad V = \sum \mu_i = (1 - \mu_i) \quad \mu_i$$

[18]

[19]

$$Y_1, Y_2, \dots, Y_m; Z_1, \dots, Z_n$$

$$p(y_1, \dots, y_m; z_1, \dots, z_n) = (\sqrt{2\mathbb{R}})^{-(m+n)} \exp\left\{-\frac{1}{2\mathbb{R}^2} \left[\sum_{i=1}^m (y_i - \hat{y}_i)^2 + \sum_{i=1}^n z_i^2 \right]\right\};$$

$$\hat{\mu}_1, \dots, \hat{\mu}_m \quad m \quad \frac{1}{2} \quad (\quad)$$

$$H_0 : \hat{\mu}_1 = \hat{\mu}_2 = \dots = \hat{\mu}_m = 0;$$

$$n_1 \quad m$$

$$F = \frac{\sum_{i=1}^{n_1} y_i^2}{\sum_{i=1}^{n_1} y_i^2 + \sum_{i=1}^m z_i^2};$$

$$W_0 = \{(y_1, \dots, y_m; z_1, \dots, z_m) : F \geq F_\alpha\};$$

$$F_\alpha \quad P(F \geq F_\alpha | H_0) = \int_{W_0} f(y_1, \dots, y_m; z_1, \dots, z_m) dy_1 \dots dy_m dz_1 \dots dz_m$$

$$= \frac{1}{2^{m/2} \Gamma(m/2)} \sum_{i=1}^{n_1} y_i^2;$$

$$\int_{W_0} f(y_1, \dots, y_m; z_1, \dots, z_m) dy_1 \dots dy_m dz_1 \dots dz_m \leq \int_{W_0} f(y_1, \dots, y_m; z_1, \dots, z_m) dy_1 \dots dy_m dz_1 \dots dz_m$$

(H. B. Mann Analysis and Design of Experiments, 1949)

Simaika (1941) Hotelling T^2

Lehmann Scheffe

[4]
(4) 1938 1945

$N(0; S)$ S $X_1; X_2; \dots; X_N$

$$A \triangleq (N - 1)S = \sum_{\alpha=1}^N (X_\alpha - \bar{X})(X_\alpha - \bar{X})^T \quad (1)$$

Wishart $W(S; N - 1)$
[20]

Wishart [21] [5]

$A \sim B$ Wishart $W(S; m)$ $W(S; n)$ $m \geq p; n \geq p$
 $\sum \mu_1 \geq \mu_2 \geq \dots \geq \mu_p$

$$|A - \mu(A + B)| = 0$$

$$\mu_1, \dots, \mu_p$$

$$\prod_{i=1}^p \mu_i^{\frac{1}{2}(m-p-1)} \prod_{i=1}^p (1 - \mu_i)^{\frac{1}{2}(n+p-1)} \prod_{i=1}^p \prod_{j=i+1}^p (\mu_i - \mu_j):$$

(1) $A \quad S$

$$A = \begin{pmatrix} A_{11} & A_{12} \\ A_{21} & A_{22} \end{pmatrix}; \quad S = \begin{pmatrix} S_{11} & S_{12} \\ S_{21} & S_{22} \end{pmatrix};$$

$$A_{11} \quad S_{11} \quad \rho_1 \quad A_{22} \quad S_{22} \quad \rho_2$$

$$\begin{vmatrix} -A_{11} & A_{12} \\ A_{21} & -A_{22} \end{vmatrix} = 0; \quad \begin{vmatrix} -S_{11} & S_{12} \\ S_{21} & -S_{22} \end{vmatrix} = 0.$$

([35] 142-149)

$A \quad B \quad A \quad \text{Wishart} \quad B \quad \text{Wishart}$

$$|A - AB| = 0$$

([35] 129-140)

X_1, X_2, \dots, X_N

$$T = Q - S$$

$$Q = \sum_{i,j=1}^N a_{ij} (X_i - \bar{X})(X_j - \bar{X}); \quad S = \sum_{i=1}^N (X_i - \bar{X})^2;$$

$a_{ij} \quad N$
([35] 224-228)

$N \quad T$

$f(u_1, \dots, u_k) \quad u_1, \dots, u_k$
 $f(\cdot)$
(0)

(5)

[6] [22] Berry

$x_1, x_2, \dots, x_n \quad n$
 $0 \quad 1$

$E x_i = 0; E x_i^2 = 1 \quad (i = 1, \dots, n)$ (

$$\bar{x} = \frac{1}{n} \sum_{i=1}^n x_i; \quad s^2 = \frac{1}{n} \sum_{i=1}^n (x_i - \bar{x})^2;$$

$\Phi(x)$

(n)

Cramér

$$F_n(x) \triangleq P(\sqrt{n}\bar{x} \leq x)$$

$$F_n(x) = \Phi(x) + \tilde{A}(x) + R(x);$$

$$\lim_{n \rightarrow \infty} R(x) = \tilde{A}(x) \quad R(x) \quad \text{Berry} \quad F_n(x) \quad \text{Berry} \quad \text{Cramér} \quad \text{Berry}$$

$$|F_n(x) - \Phi(x)| \leq A n^{-\frac{1}{2}} \quad (x);$$

$$\begin{aligned} \sigma_3^2 = E|\eta_1|^3 & \quad A \quad (n \quad \eta_1) \\ [22] \quad \text{Berry} & \quad \text{Cramér} \\ \sigma^2 = \frac{1}{n} \sum_{i=1}^n (\eta_i - \bar{\eta})^2 & \quad \bar{\eta} = \frac{1}{n} \sum_{i=1}^n \eta_i \end{aligned}$$

$$G_n(x) = P(\sqrt{n}(\bar{\eta} - 1) = (\sqrt{\sigma_4} - 1) \leq x)$$

$$(\sigma_4 = E\eta_1^4) \quad \sigma_6 = E\eta_1^6 < \infty \quad \sigma_4 - 1 - \frac{\sigma_6}{\sigma_3^2} \neq 0 \quad (\sigma_3 = E\eta_1^3)$$

$$|G_n(x) - \Phi(x)| \leq \frac{A}{\sqrt{n}} \left(\frac{\sigma_6}{\sigma_4 - 1 - \frac{\sigma_6}{\sigma_3^2}} \right)^{\frac{3}{2}} \quad (x);$$

$$A \quad E\eta^{2k} < \infty \quad (k > 3) \quad G_n(x)$$

(6)

$$\{\eta_n; n \geq 1\} \quad 1$$

$$\text{Robbins} \quad [23]$$

" > 0

$$\sum_{n=1}^{\infty} P\left(\left|\frac{1}{n} \sum_{k=1}^n \eta_k - 1\right| \geq \epsilon\right) < \infty: \quad (2)$$

$$\left(\frac{1}{n} \sum_{k=1}^n \eta_k - 1\right) \quad \text{"} \quad (2) \quad [23]$$

$$\frac{1}{n} \sum_{k=1}^n \eta_k$$

[23]

(2)

P. Erdős

(7)

Levy, Feller, Kolmogorov

Gnedenko

[24]

1947

1968

Gnedenko

Kolmogorov

Gnedenko()

(8)

X F(x)

$$f(t) = \int_{-\infty}^{+\infty} e^{itx} dF(x):$$

[25] $f(t) \quad (-\pm; +\pm) \quad (\pm > 0) \quad X \quad -$

$$M_\beta(F) = \int_{-\infty}^{+\infty} |x|^\beta dF(x) < \infty$$

[26] $f(t) \quad (-\infty; +\infty)$
 $(-\pm; +\pm)$

Gnedenko

$(-\infty; +\infty) \quad f(t) \quad (\dot{U})$
 (\dot{U})

$F(x) \quad F(x) \quad p(x)$

$$p(x) = O[\exp(-\frac{|x|}{\tilde{A}(|x|)})] \quad (|x| \rightarrow \infty);$$

$\tilde{A}(x)$

$$(\ln x)^\lambda; \quad (\ln x)(\ln \ln x)^\lambda; \quad \dots \quad (\lambda > 1)$$

(9) [27]

$$A \rightarrow B = PA(\dot{P})^{-1};$$

$P \quad \dot{P} \quad P \quad A \quad B \quad [27] \quad A \quad B$

()

[28] $A_1 \quad A_2$

$$A_1 \rightarrow B_1 = PA_1Q; \quad A_2 \rightarrow B_2 = PA_2\dot{Q};$$

$P \quad Q \quad (A_1; A_2) \quad (B_1; B_2)$

()

[29] (38 54)
 $(A_1; A_2) \quad A_1 \quad A_2$

$$A_1 \rightarrow B_1 = PA_1(\dot{P})^T; \quad A_2 \rightarrow B_2 = PA_2P^T;$$

$P \quad T \quad (A_1; A_2) \quad (B_1; B_2)$

1

(i) A_1 (7) A_2 $(A_1; A_2)$

(ii) A_1 A_2
 $(A_1; A_2)$ (8)

(10) [30] X \mathcal{F} X Borel n
 $p(t; x; E)$ E $(x \in X; t > 0; E \in \mathcal{F})$ [30] s x
 $t + s$ $p(t; x; E)$ t $p_{ij}(t)$ Austin

[31] m PBIB $(PBIB)$ ([31] [32])
 $X_1; \dots; X_n$ [32]

$F(x) \gg_1^{(n)} \leq \dots \leq \gg_n^{(n)}$ [32]
 $\gg_{k_n}^{(n)} (k_n \rightarrow \infty; k_n = n \rightarrow \dots \in [0; 1])$ $\gg_{k_n}^{(n)}$

$$A_1(x) = \frac{1}{\sqrt{2\pi}} \int_{-\infty}^x e^{-\frac{t^2}{2}} dt$$

$$A_2(x) = \begin{cases} 0 & x \leq 0 \\ \frac{1}{\sqrt{2\pi}} \int_{-\infty}^{\alpha \ln x + \beta} e^{-\frac{t^2}{2}} dt & x > 0; \alpha > 0 \end{cases}$$

$$A_3(x) = \begin{cases} 1 & x \geq 0 \\ \frac{1}{\sqrt{2\pi}} \int_{-\infty}^{\alpha \ln|x| + \beta} e^{-t^2} & x < 0 \end{cases}$$

- [1] (1980) .
- [2] (1981) .
- [3] Anderson, T. W., Chung, K. L. and Lehmann, E. L., *Pao-Lu Hsu 1909-1970*, Ann. Statist, 1979, 7: 467-470.
- [4] Lehmann, E. L., *Hsu's Work on Inference*. Ann. Statist. 1979, 7: 471-472.
- [5] Anderson, T. W., *Hsu's Work in Multivariate Analysis*. Ann. Statist, 1979, 7: 474-478.
- [6] Chung, K. L., *Hsu's Work in Probability*. Ann. Statist, 1979, 7: 479-483.
- [7] Deemer, W.L. and Olkin, I.(1951), *The Jacobians of Certain Matrix Transformations Useful in Multivariate Analysis*, Based on Lectures of P.L.Hsu at the University of North Carolina, 1947. Biometrika 38: 345-367.
- [8] Lehmann, E. L., Reminiscences of a Statistician: The Company I Kept, 2008 Springer, .
- [9] .
- [10] .
- [11] () (1994).
- [12] 90
2000 29 369-374.
- [13] .
- [14] (C. Reid): { (1987).
- [15] *Contribution to the theory of "Student's" t-test as applied to the problem of two-samples*. Statist. Res. Mem, 2(1938), 1-24.
- [16] *On the best unbiased quadratic estimate of the variance*. Statist. Res. Mem. 2(1938), 91-104.
- [17] *Notes on Hotelling's generalized T*. Ann. Math. Statist.9(1938), 231-243.
- [18] *On generalized analysis of variance*. Biometrika. 31(1940), 221-237.

- [19] *Analysis of variance from the power function standpoint.* Biometrika. 32(1941), 62-69.
- [20] *A new proof of the joint product moment distribution.* Proc. Cambridge Philos. Soc. 35(1939), 336-338.
- [21] *On the distribution of roots of certain determinantal equations.* Ann. Eugenics. 9(1939), 250-258.
- [22] *The approximate distribution of the mean and variance of a sample of independent variables.* Ann. Math. Statist 16(1945), 1-29.
- [23] *Complete convergence and the law of large numbers.* (with H. Robbins) Proc. Nat. Acad. Sci. U.S.A. 33(1947), 25-31.
- [24] *A general weak limit theorem for independent distributions.* (Appendix III in Limit Theorems of Sums of Independent Random Variables by B. V. Gnedenko and A. N. Kolmogorov, translated by K. L. Chung. revised edition, Addison-Wesley 1968).
- [25] . 1(1951) 257-280.
- [26] . 4(1954) 21-32.
- [27] . 5(1955) 333-346.
- [28] . () 1(1955) 1-16.
- [29] . () 3(1957) 167-209.
- [30] . () 4(1958) 257-270.
- [31] (\ "). 7(1964) 240-281.
- [32] (\ "). 14(1964) 694-714.
- [33] (1982) .
- [34] (1981) .
- [35] Pao-Lu Hsu Collected Papers, Springer-Verlag(1983). New York.